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2) What is one more than 7?

3)  Complete the sentence using less or more.

7 is than IS

4)  Name the shape. ,
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loday we are going to learn

There are black counters.
There are red counters.
Altogether there are counters.
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There are red counters.
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. Altogether there are _____ counters.




M.o

nday [lth Joanwary

WALT: mqumber honds to 20
&
|. .I.I.I.I There are ___ black counters.
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There are _ red counters.
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Altogether there are _____ counters.
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. . . . . There are _____ black counters.
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There are _ red counters.
Altogether there are _____ counters.
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There are 5 red counters.
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Altogether there are 15 counters.

True or false? Explain how you know.
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There are 4 black counters. There are & red counters.
Altogether there are 10 counters
44+6=10 6+4=10

There are 7 black counters. There are 3 red counters.

Altogether there are 10 counters
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There are ___ black counters. Thereis ____

vd counter. Altogether there are ___ counters.
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There are ____ black courters. There are ___

red counters. Altogether there are counters
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There are _____ black counters. There are ___

red counters. Altogether there are ____ counters.
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' There are ____ black counters. Thereare
i red counters. Altogether there are ___ counters.
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i Thereare ____ black counters. Thereare____
a ed counters. Altogether there are ___ counters

Number bonds (1)

1 What number bond is represented by the ten frames?
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Number bonds (1)

1 What number bond is represented by the ten frames?
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There are 13 black counters. There are 7 red

counters, Altogether there are 20 counters.

oY o
a }JL
@

There are___

__ black counters. There are __

red counters. Altogether there are ____ counters
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There are 6 black counters. There are

red counters. Altogether there are _____ counters.
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red counters. Altogether there are

__ black counters. There are __

_ counters.
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There are _

red counters. Altogether there are _

__ black counters There are _

counters
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There are 13 black counters:

There are 7 red counters.
Altogether there are 20 counters

Spot and explain the mistake

Use all the counters belov

ten frame
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Number sentence.

Jack has 20 counters in total. The number of
red counters is one more than 13. The rest
— e black counters. Represent this below
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Number sentence - =

Matt has 20 black and ¢
altogether

How many red counters
the number of black cow
1?2

Explain how you know.

Use all the counters below to complete the
ten frame

Mo has 20 counters in 10
red counters than black ¢
many of each colour he h
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black counter, There are

red counters. Altogether there are __

the number of red counters is 5 more than 47

Explain your answer

_ Counters. k—— 3
ER S Number sentence: ____ +___=___ | Number sentence: ___
e ar o — Sue has 20 black and red counters Y T Y 7Y
& Thars ave_____ block cossaars. Thare s ___ o @ ooeee |
red counters. Alogether there are counters oeo00® |
00000
— — How many black counters does she have if
counters. 1b+4-

The number sentence e
frame. True o false? Bx|




